Is Your Product Registered?
Contact your Dealer to verify.

Warranties are based on Registrations and reduced to 1 year without
Registration.




MARUYAMA | [LLUSTRATED PARTS LIST

MS1300F

PUMP




1. MS1300F




Ref. No. Part No. Part Name Q'ty Remarks
1-1 354069 | MS1300F 1
1-2 126767 | Label 1 | MS1300F
1-3 054365 | Label 1
1-4 125812 | Crankcase 1
1-5 092269 | Oil Cap Ass'y 1 | Incl.6
1-6 014177 | O-Ring 1 | P35
1-7 126589 | Washer 5 | 24X34XT1.2
1-8 044285 | Oil Seal 5 | 5105347
1-9 012380 | Snap Ring 5 | #35
1-10 027488 | Spring Pin 2 | 5X12 AW
- 044490 | Plug 1 | R3/8
- 145964 | Plug 1 | R1/4
- 125820 | Crankcase Lid 1
- 125823 | Packing 1
- 125312 | Oil Gauge Ass'y 1 | Incl.16
1-16 026531 O-Ring 2 | S8
1-17 091376 | Plug Ass'y 1 | G1/4 Incl.18
1-18 023170 | O-Ring 1 | P12.5
1-19 125824 | Bolt 6 | M6X16
1-20 125983 | Crankshaft 1
1-21 125829 | Bearing Case 1
1-22 047068 | Bearing 1 | #6207
1-23 014038 | O-Ring 1 | S85
1-24 125832 | Bolt 4 | M8X16
1-25 125834 | Bearing Case 1
1-26 047068 | Bearing 1 | #6207
1-27 014038 | O-Ring 1 | S85
1-28 043495 | Oil Seal 1 | D35508
1-29 125832 | Bolt 4 | M8X16
1-30 125836 | Connecting Rod Ass'y 5
1-31 125986 | Plunger Ass'y 5
1-32 043237 | Piston Pin 5
1-33 026853 | Packing 5
1-34 632584 | A-Block 5 | Incl.35-40
1-35 027944 | Suction Valve 5
1-36 115420 Piston Packing 5
1-37 027796 | Suction Valve collar 5
1-38 027947 | Suction Valve Stopper 5
1-39 015850 | Spring Washer 5 | M7
1-40 115598 | Nut 5 | M7
1-41 125989 | Cylinder Manifold 1
1-42 100015 | Packing 5
1-43 125851 Seal Retainer 1
1-44 125992 | Cylinder Pipe 5
1-45 125994 | O-Ring 10




1. MS1300F




Ref. No. Part No. Part Name Q'ty Remarks
1-46 108366 | Plug 1 | G1/4
1-47 023170 | O-Ring 1 | P125
1-48 125996 Discharge Manifold 1
1-49 120236 | Valve Ass'y 5
1-50 125998 | Washer 5 | 23X41.5XT4
1-51 125863 | Plug 1 | R1
1-52 125864 | Plug 2 | R1/4
1-53 125348 | Plug 2 | R3/8
1-54 108366 | Plug 1 | G1/4
1-55 023170 | O-Ring 1 | P125
1-56 125999 | Cylinder Bolt 4 | M12X148X30X30
1-57 125866 | Spring Washer 4 | M12
1-58 125867 | Nut 4 | M12




Maruyama U.S., Inc.
3570 Shelby Lane
Denton, TX 76207
940-383-7400 voice
940-383-7466 fax

www.maruyama-us.com



